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; PROBLEM: Thisgameisfrom the book “On Numbers and Games’ by
John Conway. The gameisusually played on an 8x8 grid. For this

I problem we have modified the game to use a 6x6 grid as shown at the
left. Thefirst player can place amarker in an up-down position or in a

left-right position over any two adjacent, unoccupied squares. All

| markers of the first player must now be played in the same direction as
= I I— the first marker. The second player places markers on the grid in the
direction not selected by the first player. The object of the gameisto

place the last marker on the grid so that the other player can’t place a
L marker on the grid.

I ' The grid locations will be labeled with row 1 and column 1 (1,1) in the

e lower |eft corner. (6,6) islocated in the upper right corner.
Up-down markers will be identified by their lower grid location. The
upper most up-down marker in the grid isidentified by location (5,4).
Left-right markers will be identified by their left most grid location.
The upper most |eft-right marker isidentified by location (6,1).

INPUT: Therewill be5input lines. Each linewill contain in order the following information:
1. Thefirst player’s marker direction (U —up-down or L —left-right)

2. How many markers each player has on the grid

3. A seriesof row-column pairs giving the location of each marker.

Sampleinput #1 givesthe grid above. Thefirst player placed the first marker in the | eft-right position.
Both players have 5 markers on the board. The first 5 row-column pairs give the positions of the first
player’s markers and the second 5 row- column pairs give the positions of the second player’s markers. It is
now thefirst player’sturn to place a marker on the board.

OUTPUT: For eachinput line, print the number of possible moves for the first player. 1f one or more of
those moves resultsin awin, also print “WIN”.

MPLE INPUT SAMPLE OUTPUT
L,5,614231251.354343,6,11,12 1.6

u,5,54343611126142312513 2.7
L

SA
1
2. U,5

3.L,86164515443332124,5356,313235361316 3. 2, WIN



